.2

Find tha areq of e dropezaid

3) 8 ) U - :
As oL@t %) Azb(i10+L) 5) A 25 (1.0142)

; & . 2 i %

‘ A asu’ | |Aspur | o A e
I v

=8 h=10 b=\ by=io h=l b,z bi1c1.L =5 bs=4%
L) The lengths of Hae bases of & trape2eid ore §. ik emond 10.2 on. The haignt
ks . Than find Hhe ared.

1s 8um. Draw ond lakel a_{-m-puml Hhat M

5.4 b,= 54 A=8(5.4 +0.2)
o b,=:o.:_ 2
h=8 (Reuz.hem® |
T .
Find ¥ area of +ha rhombus of kike . A =4(d da) "
' Raombus  9) I

1) Rrombus  8) A_ A =ztc\e)
A »(,0(56) o ’.‘_*_;_‘.‘-l.“.’)
(/]
5 ‘e e vl&‘!u.
b— 48

J_ \A =1s60u? -
= Lo—t d =49 4;°l¢ 4.2l d"_lg
d =to dz"fO
10) 1)) Rhembw) 12) Kire
m k: quo =2_lﬂ_L h=q(4)
lk=3hou. l 2
|—--n———1 \A-aﬁsu l et z(m d;’mﬂ dp S dysagy IAEI8ul
=19 d,=10 49 dy=4
Diseribe and Correct the ervor,
\8) W Ae£UB(14E19) \4) T A=§cnz)(z|)
'3 12 =214.5(m> X 12 T |2b emr X
\q A=d(12) (M49) W A= () ()
b2 hal2 [A=\iBom?] J- |=252om?
b= 4\ 20 da 2202 :

15) one daagonal ofa thombud IS 3 HmMEs ag long ag +ny o{-ur diagonad . The ared

S 20 £42. Whad 0 ¢ the 1enghhs o€ Hee dtng;nal:\ 245 X(30) LEXE
2 X= 4

TR] 86+, 1| €4 (B 4 134
€] 264, L+ (B WH, 2464 gdl,x d;73X WB=3x2 .-y d‘?é"’)



Find fhe valut ofy .

A=l00 'ﬁdz
lw) A= 10842 17) A=300m? @) T
”'_‘{ by=22 b= 1o d, =10
ba®I4 b——~ b, >X s d, =
% h=X X B '® he2o J_
" - ]
108= X(22+4) 300= 20( 10 ¢ X) 106= 10X
e 2 & 5
21 =306 ¢ oo =200 10+ x ) 100=5 x
| Xz ef | 30 =10 #X (x_,;o c“
X=20m| Red
‘ Find He area . -l ik
20) AzHe)  2l)
| 2 T A=5(4)
= \6. Su‘ ' AUl | 2
|A= | |A=8u .
|A=lou*
T~y Ty —5
Find the Ia\ghs 6F Hhe bases of +ho hmpe2sids destribed. T
22) The hugM 1S 3 £+, one base is holee ag long as Hawo ophar base. The
arta \s |a 5$3H 12,5 = 3 (X42X) |
*3( 2x) 3(2)
9=3x
xX=3

25) one bﬂS! .S 8 tm |°ngu Yo W oHur bqgg . Twe MgM .|S b tm MJ Hre

ored is 54 359 om . Bz L(X + Xt8)

2

x - 2
/L-—‘——\ it 108=0( 2x +8) [bost, "5  bace, 213 |
” ' 8= 2x+8 B+5
X +8 o & 2y
\ !35
Find ¥ area of He shaded region.
T .
2H) 20 d, =3012) 25) by =q+H A=12(20¢8)
"3-‘4 b= 20 )
d;-aq-t.. sk |'A=u.eu.‘?
il oA mw) 83 ayasad
Hoo-xu-zsv 225=X4 8|
K2y & =ss52u?] X2 14

=12 ——— X2



) iy 2 49 21) : T BT As2(7410)
29 by =21+20 by=lo 2

20 e b;:‘"lz- g i, he 2 e 17
- D w20 |
2\ X - 4 bz=l6o h=§
22x2 4202 A= 20(2)t 42) a .
vy e L _q-5  AlTep) ¢ A(Reet) T 5O
Byl=x3 + 400 2 Xx " e R
Wi =X 2 oy
k221 LT LXI50
28 )

) 5 d;"‘ 2(4) A= 8(W) ZQ) T b= lz;h=1 A'u(-')
d|'s & " 89‘{'
da=2(3) =24

§ da=t + :F'z 21207
3""3) 2 ’-.':-l 2
o [N\S §izx2pyt b=4,h=d = | =42
26sx2+l  AlRmmbus) ¢ ALST) ala) - Alkite)
" A% 24 ¢ 12 A= B
xXe3
\‘t=3bu.‘| H-’H}lu"l

skehn Hae Bgure . Then deberming 1t puimetes end ared . |
3) The fgure 15a krapeasid . I has 40 right engles . Tt \engths of its bases

are 1M41|s. s haight 13t FTRITL
- k-u(-wzts) i
T YETIAL peudtl0+1S
=lble b
g i \_E_Z:?.?J-.*]
K61

32) The fiqure \s & chombus, \1s side lenghh i 13 . Te langbh of cenecf
' cliagonals is 24 .

32=1224x2 d,=24 A=24(10)
ozt dpra(s) L N
3 x*=25 da =16 A =120u* |
X=5
P=%(13)

\_E= 52w |




